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GCSE in Mathematics B

Modular 2544 

Unit 2 Handling Data

Practice Paper D 

Foundation

(Calculator and Non–Calculator)
Foundation  – Section A – Calculator

1.
Lesley wrote down the colour of each car in the school car park.
The bar chart shows this information.
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(a)
Write down the number of blue cars.

..........................

(1)

(b)
What was the most popular colour of cars?

..........................

(1)

(c)
Work out the total number of cars.

..........................

(1)

(Total 3 marks)
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2.

Each student at Redmond School studies one foreign language.
Students can choose from French, German and Spanish.


The headteacher wants to show how many boys and how many girls study each language.

(a)
Draw a two-way table the headteacher could use to show this information.

(2)


23 boys study French.

(b)
Write the number 23 in the correct place in your two-way table.

(1)

(Total 3 marks)


3.
Work out the median of these 15 numbers.

	3
	8
	8
	6
	4
	2
	8
	9
	4
	5
	1
	5
	7
	8
	9


…………….

(Total 2 marks)


4.
The probability that a biased dice will land on a four is 0.2


Pam is going to roll the dice 200 times.

Work out an estimate for the number of times the dice will land on a four.

.........................

(Total 2 marks)



5.
Rosie had 10 boxes of drawing pins.


She counted the number of drawing pins in each box.

The table gives information about her results.

	Number of
drawing pins
	Frequency
	

	29
	2
	

	30
	5
	

	31
	2
	

	32
	1
	


(a)
Write down the modal number of drawing pins in a box.

.................................

(1)

(b)
Work out the range of the number of drawing pins in a box.

…..............................

(1)

(c)
Work out the mean number of drawing pins in a box.

.................................

(3)

(Total 5 marks)


TOTAL FOR SECTION A:  15 MARKS

Foundation – Section B – Non-calculator

1.
Here is a pictogram.
It shows how much money James, Sam and Tom each have.
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(a)
(i)
How much money does Sam have?

£……………………………

(ii)
How much money does Tom have?

£……………………………

(2)


Aaron has £25

(b)
Show this on the pictogram.

(1)

(Total 3 marks)


2.
Jennie asked each of her friends to write down their favourite vegetable.

         Here are her results.



Peas
Potatoes
Carrots
Parsnips
Onions



Carrots
Carrots
Parsnips
Peas
Peas



Onions
Potatoes
Onions
Peas
Carrots



Peas
Peas
Carrots
Onions
Parsnips

          Complete the frequency table to show her results.

	Favourite Vegetable
	Tally
	Frequency

	Peas
	
	

	Potatoes
	
	

	Carrots
	
	

	Parsnips
	
	

	Onions
	
	


(Total 2 marks)


3.
Jose is in hospital.


Here is his temperature chart during one day.



    40.5

Temperature  40.0

     in (C



   39.5




   39.0




   38.5




   38.0




   37.5



   37.0



   36.5



   36.0
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  am                   TIME                           pm
    (a)   At what time was Jose’s temperature 39.0(C?


(1)

   (b)   What can you say about Jose’s temperature from 6 am to 6 pm?


(1)

(Total 2 marks)


4.      
Shirin recorded the number of students late for school each day for 21 days.
The stem and leaf diagram shows this information.
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(a)
On how many days were 29 students late?
…………………………

(1)

(b)
Find the median number of students late for school.

…………………………

(1)

(c)
Work out the range of the number of students late for school.
..............................

(1)

(Total 3 marks)


5.
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Here is a fair 7-sided spinner.
The spinner is to be spun once.
The spinner will land on one of the colours.

(a)
On which colour is the spinner most likely to land?
........................................

(1)

(b)
Write down the probability that the spinner will land on green.

........................................

(1)

(Total 2 marks)

6.      The scatter graph shows information about 12 countries.


For each country, it shows the percentage of the population in farming jobs and the percentage of the population living in towns.
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(a)
Describe the relationship between the percentage of the population in farming jobs and the percentage of the population living in towns.

……………………………………………………………………………………………

……………………………………………………………………………………………

(1)

(b)
Draw the line of best fit on the scatter graph.

(1)


In Mathsland, the percentage of the population in farming jobs is 35%.

(c)
Use your line of best fit to estimate the percentage of Mathsland’s population living in towns.

……………………. %

(1)

(Total 3 marks)


TOTAL FOR SECTION B:  15 MARKS

Mark Scheme Paper D   

Modular 2544 Unit 2 = Data Handling

Foundation – Section A – Calculator

1 (a)   12
        (b)   Red
(c)   48

2 

	
	French
	German
	Spanish
	Total

	Boys
	23
	
	
	

	Girls
	
	
	
	

	Total
	
	
	
	


3
6

4
40

5 (a)   30
          (b)   3
(c)   30.2

Mark Scheme Paper D   

Modular 2544 Unit 2 = Data Handling

Foundation – Section B – Non Calculator

1 (a)(i)  80      (ii)   50

(b)

2 



	Favourite Vegetable
	Tally
	Frequency

	Peas
	     llll   l
	6

	Potatoes
	     ll
	2

	Carrots
	     llll
	5

	Parsnips
	     lll
	3

	Onions
	     llll
	4


3 (a)   9 am

(b)   It drops

4 (a)   3

(b)   26

(c)   22

5 (a)   Negative correlation.    or    The higher the percentage of the population living in the town, 

           the lower the percentage of farming jobs, and vice versa.

   (b)
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   (c)   57%      (follow through from their line of best fit= straight line with negative slope)
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